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QUESTION 1

What does the binlog dump thread do? 

A. It monitors and schedules the rotation/deletion of the binary logs. 

B. It reads the relay log and executes the events contained in them. 

C. It acquires a lock on the binary log for reading each event to be sent to the slave. 

D. It connects to the master and asks it to send updates recorded in its binary logs. 

Correct Answer: D 

Reference: https://blogs.oracle.com/mysql/what-causes-replication-lag- v2#:~:text=The%20Binlog%20Dump%20Thread
.,contents%20of%20its%20binary%20log.andtext=The%20slaves%20creates%20th is%20SQL,log% 20and%20apply%
20its%20contents. 

 

QUESTION 2

Which two are use cases of MySQL asynchronous replication? (Choose two.) 

A. You can scale writes by creating a replicated mesh. 

B. It guarantees near real-time replication between a master and a slave. 

C. You can scale reads by adding multiple slaves. 

D. MySQL Enterprise Backup will automatically back up from an available slave. 

E. It allows backup to be done on the slave without impacting the master. 

Correct Answer: CE 

 

QUESTION 3

You have semi-synchronous replication configured and working with one slave. rpl_semi_sync_master_timeout has
never been reached. 

You find that the disk system on the master has failed and as a result, the data on the master is completely
unrecoverable. Which two statements are true? (Choose two.) 

A. No committed transactions are lost. 

B. The slave automatically identifies that the master is unreachable and performs any required actions so that
applications can start using the slave as the new master. 

C. As soon as the incident happens, application can read data from the slave and rely on it to return a full and current
set of data. 

D. Reads from the slave can return outdated data until the value of the rpi_semi_sync_master_timeout variable is
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reached. 

E. Reads from the slave can return outdated data for some time, until it applies all transactions from its relay log. 

F. A small amount of committed transactions may be lost in case they were committed just before the disk failure. 

Correct Answer: BF 

 

QUESTION 4

You are using mysqlcheck for server maintenance. Which two statements are true? (Choose two.) 

A. The mysqlcheck --check --all-databases command takes table write locks while performing a series of checks. 

B. The mysqlcheck --optimize --all-databases command reclaims free space from table files. 

C. The mysqlcheck --repair --all-databases command can repair an InnoDB corrupted table. 

D. The mysqlcheck command can be renamed mysqlrepair so that it repairs tables by default. 

E. The mysqlcheck --analyze --all-databases command performs a series of checks to spot eventual table corruptions. 

Correct Answer: DE 

 

 

QUESTION 5

Examine this SQL statement: 

Which set of privileges will allow Tom to execute this SQL statement? 

A. GRANT ALL PRIVILEGES ON `world\\'.`city\\' TO `tom\\'@\\'%\\'; GRANT SELECT (`code\\') ON `world\\'.`country\\'
TO `tom\\'@\\'%\\'; 

B. GRANT UPDATE ON `world\\'.* TO `tom\\'@\\'%\\'; GRANT ALL PRIVILEGES ON `world\\'.`country\\' TO
`tom\\'@\\'%\\'; 

C. GRANT UPDATE ON `world\\'.`city\\' TO `tom\\'@\\'%\\'; GRANT SELECT ON `world\\'.* TO `tom\\'@\\'%\\'; 

D. GRANT UPDATE ON `world\\'.`city\\' TO `tom\\'@\\'%\\'; GRANT SELECT ON `world\\'.`country\\' TO `tom\\'@\\'%\\'; 

Correct Answer: D 
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